

SHARP TWO PARAMETER BOUNDS FOR THE LOGARITHMIC MEAN AND THE ARITHMETIC–GEOMETRIC MEAN OF GAUSS

YU-MING CHU, MIAO-KUN WANG, YE-FANG QIU AND XIAO-YAN MA

(Communicated by N. Elezović)

Abstract. For fixed $s \geq 1$ and $t_1, t_2 \in (0, 1/2)$ we prove that the inequalities $G^s(t_1 a + (1 - t_1)b, t_1 b + (1 - t_1)a)A^{1-s}(a, b) > AG(a, b)$ and $G^s(t_2 a + (1 - t_2)b, t_2 b + (1 - t_2)a)A^{1-s}(a, b) > L(a, b)$ hold for all $a, b > 0$ with $a \neq b$ if and only if $t_1 \geq 1/2 - \sqrt{2s}/(4s)$ and $t_2 \geq 1/2 - \sqrt{6s}/(6s)$. Here $G(a, b)$, $L(a, b)$, $A(a, b)$ and $AG(a, b)$ are the geometric, logarithmic, arithmetic and arithmetic-geometric means of a and b , respectively.

1. Introduction

For $a, b > 0$ the classical arithmetic-geometric mean $AG(a, b)$ of Gauss is defined as the common limit of sequences $\{a_n\}$ and $\{b_n\}$, which are given by

$$\begin{aligned} a_0 &= a, & b_0 &= b, \\ a_{n+1} &= (a_n + b_n)/2 = A(a_n, b_n), & b_{n+1} &= \sqrt{a_n b_n} = G(a_n, b_n). \end{aligned} \quad (1.1)$$

Let $H(a, b) = 2ab/(a + b)$, $G(a, b) = \sqrt{ab}$, $L(a, b) = (b - a)/(\log a - \log b)$ and $A(a, b) = (a + b)/2$ be the classical harmonic, geometric, logarithmic and arithmetic means of two distinct positive real numbers a and b , respectively. Then it is well known that the inequalities $H(a, b) < G(a, b) < L(a, b) < A(a, b)$ hold for all $a, b > 0$ with $a \neq b$.

Recently, the harmonic, geometric, logarithmic, arithmetic-geometric and arithmetic means have been the subject of intensive research. In particular, many remarkable inequalities for these means can be found in the literature [5, 6, 10–14, 16–18].

Carlson and Vuorinen [7], and Brackenn [3] proved that

$$L(a, b) < AG(a, b) \quad (1.2)$$

for all $a, b > 0$ with $a \neq b$. Vamanamurthy and Vuorinen [19] established that

$$AG(a, b) < \frac{\pi}{2} L(a, b)$$

Mathematics subject classification (2010): 26E20.

Keywords and phrases: Geometric mean, logarithmic mean, arithmetic-geometric mean of Gauss, arithmetic mean.

This research was supported by the Natural Science Foundation of China under Grants 11071059, 11071069 and 11171307, and the Innovation Team Foundation of the Department of Education of Zhejiang Province under Grant T200924.

for all $a, b > 0$ with $a \neq b$.

The following inequalities were proved by Sándor in [17, 18].

$$\sqrt{A(a,b)G(a,b)} < AG(a,b) < \left(\frac{\sqrt{A(a,b)} + \sqrt{G(a,b)}}{2} \right)^2 \quad (1.3)$$

for $a, b > 0$ with $a \neq b$.

In order to refine inequality (1.2), Neuman and Sándor [15] proved that

$$L(a,b) < L(a_n, b_n) < AG(a,b), \quad n \geq 1$$

for $a, b > 0$ with $a \neq b$, where $\{a_n\}$ and $\{b_n\}$ are defined as in (1.1).

For $t_1, t_2, t_3, t_4 \in (0, 1/2)$, very recently Chu et al. [8, 9] proved that the inequalities

$$G(t_1a + (1-t_1)b, t_1b + (1-t_1)a) > AG(a,b), \quad (1.4)$$

$$H(t_2a + (1-t_2)b, t_2b + (1-t_2)a) > AG(a,b), \quad (1.5)$$

$$G(t_3a + (1-t_3)b, t_3b + (1-t_3)a) > L(a,b) \quad (1.6)$$

and

$$H(t_4a + (1-t_4)b, t_4b + (1-t_4)a) > L(a,b) \quad (1.7)$$

hold for all $a, b > 0$ with $a \neq b$ if and only if $t_1 \geq 1/2 - \sqrt{2}/4$, $t_2 \geq 1/4$, $t_3 \geq 1/2 - \sqrt{6}/6$ and $t_4 \geq 1/2 - \sqrt{3}/6$.

Let $t \in (0, 1/2)$, $s \geq 1$ and

$$Q_{t,s}(a,b) = G^s(ta + (1-t)b, tb + (1-t)a)A^{1-s}(a,b). \quad (1.8)$$

Then it is not difficult to verify that

$$Q_{t,1}(a,b) = G(ta + (1-t)b, tb + (1-t)a),$$

$$Q_{t,2}(a,b) = H(ta + (1-t)b, tb + (1-t)a)$$

and $Q_{t,s}(a,b)$ is strictly increasing with respect to $t \in (0, 1/2)$ for fixed $a, b > 0$ with $a \neq b$.

It is natural to ask what are the least values $t_1 = t_1(s)$ and $t_2 = t_2(s)$ in $(0, 1/2)$ such that inequalities $Q_{t_1,s}(a,b) > AG(a,b)$ and $Q_{t_2,s}(a,b) > L(a,b)$ hold for all $a, b > 0$ with $a \neq b$ and any $s \geq 1$. The aim of this paper is to answer these questions, our main results are the following Theorems 1.1 and 1.2.

THEOREM 1.1. *If $t \in (0, 1/2)$ and $s \geq 1$, then the inequality*

$$Q_{t,s}(a,b) > AG(a,b)$$

holds for all $a, b > 0$ with $a \neq b$ if and only if $t \geq t_1(s) = 1/2 - \sqrt{2s}/(4s)$.

THEOREM 1.2. *If $t \in (0, 1/2)$ and $s \geq 1$, then the inequality*

$$Q_{t,s}(a, b) > L(a, b)$$

holds for all $a, b > 0$ with $a \neq b$ if and only if $t \geq t_2(s) = 1/2 - \sqrt{6s}/(6s)$.

REMARK 1.1. We clearly see that the inequalities (1.4)–(1.7) are the special cases of Theorems 1.1 and 1.2 with $s = 1, 2$.

REMARK 1.2. Since $t_1(s) = 1/2 - \sqrt{2s}/(4s) > t_2(s) = 1/2 - \sqrt{6s}/(6s)$ for all $s \geq 1$, we clearly see that the results contained in the Theorems 1.1 and 1.2 are not compared to each other. In particular, if $t \geq t_1(s)$, then $Q_{t,s}(a, b) > AG(a, b) > L(a, b)$, so the inequality of Theorem 1.1 implies the one from Theorem 1.2.

2. Preliminaries

In order to prove Theorems 1.1 and 1.2 we need some basic knowledge of hypergeometric function and two lemmas, which we present in this section.

For real numbers a, b and c with $c \neq 0, -1, -2, \dots$, the Gaussian hypergeometric function is defined by

$$F(a, b; c; x) = {}_2F_1(a, b; c; x) = \sum_{n=0}^{\infty} \frac{(a, n)(b, n)}{(c, n)} \frac{x^n}{n!}, \quad |x| < 1. \tag{2.1}$$

Here $(a, 0) = 1$ for $a \neq 0$, and $(a, n) = a(a + 1)(a + 2)(a + 3) \cdots (a + n - 1)$ is the shifted factorial function for $n = 1, 2, \dots$. In connection with the Gaussian hypergeometric function, the well-known complete elliptic integrals $\mathcal{K}(r)$ and $\mathcal{E}(r)$ ($0 < r < 1$) of the first and second kinds [2, 4] are defined by

$$\begin{cases} \mathcal{K}(r) = \pi F(1/2, 1/2; 1; r^2)/2 = \int_0^{\pi/2} (1 - r^2 \sin^2 \theta)^{-1/2} d\theta, \\ \mathcal{K}(0) = \pi/2, \quad \mathcal{K}(1) = \infty \end{cases} \tag{2.2}$$

and

$$\begin{cases} \mathcal{E}(r) = \pi F(-1/2, 1/2; 1; r^2)/2 = \int_0^{\pi/2} (1 - r^2 \sin^2 \theta)^{1/2} d\theta, \\ \mathcal{E}(0) = \pi/2, \quad \mathcal{E}(1) = 1, \end{cases} \tag{2.3}$$

respectively. The following formulas for $\mathcal{K}(r)$ were presented in [1]:

$$\frac{d\mathcal{K}(r)}{dr} = \frac{\mathcal{E}(r) - (1 - r^2)\mathcal{K}(r)}{r(1 - r^2)}, \tag{2.4}$$

$$\mathcal{K}\left(\frac{2\sqrt{r}}{1+r}\right) = (1+r)\mathcal{K}(r). \tag{2.5}$$

The Gaussian identity [1] shows that

$$AG(1, r)\mathcal{K}(\sqrt{1 - r^2}) = \frac{\pi}{2} \tag{2.6}$$

for all $r \in (0, 1)$.

LEMMA 2.1. *Let $u \in [0, 1]$, $s \geq 1$ and*

$$f_{u,s}(x) = \frac{s}{2} \log(1 - ux^2) - \log\left(\frac{\pi}{2\mathcal{K}(x)}\right). \tag{2.7}$$

Then $f_{u,s} > 0$ for all $x \in (0, 1)$ if and only if $2su \leq 1$.

Proof. From (2.4) and (2.7) one has

$$f'_{u,s}(x) = -\frac{usx}{1-ux^2} + \frac{\mathcal{E}(x) - (1-x^2)\mathcal{K}(x)}{x(1-x^2)\mathcal{K}(x)} = \frac{F_{u,s}(x)}{x(1-x^2)(1-ux^2)\mathcal{K}(x)}, \tag{2.8}$$

where

$$F_{u,s}(x) = -sux^2(1-x^2)\mathcal{K}(x) + (1-ux^2)[\mathcal{E}(x) - (1-x^2)\mathcal{K}(x)]. \tag{2.9}$$

It follows from (2.1)–(2.3) and (2.9) together with elaborated computations that

$$\begin{aligned} & \mathcal{E}(x) - (1-x^2)\mathcal{K}(x) \\ &= \frac{\pi}{2} \left[\sum_{n=0}^{\infty} \frac{(-1/2, n)(1/2, n)}{(n!)^2} x^{2n} - (1-x^2) \sum_{n=0}^{\infty} \frac{(1/2, n)^2}{(n!)^2} x^{2n} \right] \\ &= \frac{\pi}{2} \sum_{n=0}^{\infty} \frac{(1/2, n)^2}{2n!(n+1)!} x^{2n+2}, \end{aligned}$$

$$\begin{aligned} \frac{2}{\pi} F_{u,s}(x) &= -sux^2(1-x^2) \sum_{n=0}^{\infty} \frac{(1/2, n)^2}{(n!)^2} x^{2n} + (1-ux^2) \sum_{n=0}^{\infty} \frac{(1/2, n)^2}{2n!(n+1)!} x^{2n+2} \\ &= -su \sum_{n=0}^{\infty} \frac{(1/2, n)^2}{(n!)^2} x^{2n+2} + su \sum_{n=0}^{\infty} \frac{(1/2, n)^2}{(n!)^2} x^{2n+4} \\ &\quad + \sum_{n=0}^{\infty} \frac{(1/2, n)^2}{2n!(n+1)!} x^{2n+2} - u \sum_{n=0}^{\infty} \frac{(1/2, n)^2}{2n!(n+1)!} x^{2n+4} \\ &= -sux^2 - su \sum_{n=0}^{\infty} \frac{(1/2, n+1)^2}{[(n+1)!]^2} x^{2n+4} + su \sum_{n=0}^{\infty} \frac{(1/2, n)^2}{(n!)^2} x^{2n+4} \\ &\quad + \frac{x^2}{2} + \sum_{n=0}^{\infty} \frac{(1/2, n+1)^2}{2(n+1)!(n+2)!} x^{2n+4} - u \sum_{n=0}^{\infty} \frac{(1/2, n)^2}{2n!(n+1)!} x^{2n+4} \\ &= x^2 \left[\frac{1}{2} - su + \sum_{n=0}^{\infty} \frac{(1/2, n)^2 A_n}{2(n+1)!(n+2)!} x^{2n+2} \right], \tag{2.10} \end{aligned}$$

where

$$A_n = su(n+2)(2n + \frac{3}{2}) + (n + \frac{1}{2})^2 - u(n+1)(n+2) > 0. \tag{2.11}$$

We divide the proof into two cases.

Case 1.1. $2su \leq 1$. Then (2.8)–(2.11) lead to the conclusion that $f_{u,s}(x)$ is strictly increasing on $(0, 1)$. Therefore, $f_{u,s}(x) > f_{u,s}(0^+) = 0$ for all $x \in (0, 1)$ follows from (2.2) and (2.7) together with the monotonicity of $f_{u,s}(x)$ on $(0, 1)$.

Case 1.2. $2su > 1$. Then (2.8)–(2.10) lead to the conclusion that there exists $\delta_1 \in (0, 1)$ such that $f_{u,s}(x)$ is strictly decreasing on $(0, \delta_1)$. Therefore, $f_{u,s}(x) < f_{u,s}(0^+) = 0$ for all $x \in (0, \delta_1)$ follows from (2.2) and (2.7) together with the monotonicity of $f_{u,s}(x)$ on $(0, \delta_1)$. \square

LEMMA 2.2. Let $u \in [0, 1]$, $s \geq 1$, $\operatorname{arctanh}(x) = \log[(1+x)/(1-x)]/2$ be the inverse hyperbolic tangent function, and

$$g_{u,s}(x) = \frac{s}{2} \log(1 - ux^2) + \log\left(\frac{\operatorname{arctanh}(x)}{x}\right). \tag{2.12}$$

Then $g_{u,s}(x) > 0$ for all $x \in (0, 1)$ if and only if $3su \leq 2$.

Proof. From (2.12) one has

$$g'_{u,s}(x) = -\frac{sux}{1-ux^2} + \frac{x - (1-x^2)\operatorname{arctanh}(x)}{x(1-x^2)\operatorname{arctanh}(x)} = \frac{G_{u,s}(x)}{x(1-x^2)(1-ux^2)\operatorname{arctanh}(x)}, \tag{2.13}$$

where

$$G_{u,s}(x) = -sux^2(1-x^2)\operatorname{arctanh}(x) + (1-ux^2)[x - (1-x^2)\operatorname{arctanh}(x)]. \tag{2.14}$$

Making use of series expansion and (2.14) we have

$$\begin{aligned} G_{u,s}(x) &= -sux^2(1-x^2) \sum_{n=0}^{\infty} \frac{x^{2n+1}}{2n+1} + (1-ux^2) \left[x - (1-x^2) \sum_{n=0}^{\infty} \frac{x^{2n+1}}{2n+1} \right] \\ &= -su \sum_{n=0}^{\infty} \frac{x^{2n+3}}{2n+1} + su \sum_{n=0}^{\infty} \frac{x^{2n+5}}{2n+1} + (1-ux^2) \sum_{n=0}^{\infty} \frac{2x^{2n+3}}{(2n+1)(2n+3)} \\ &= x^3 \left[\frac{2}{3} - su + \sum_{n=0}^{\infty} \frac{B_n x^{2n+2}}{(2n+1)(2n+3)(2n+5)} \right], \end{aligned} \tag{2.15}$$

where

$$B_n = 2u(s-1)(2n+5) + 2(2n+1) > 0. \tag{2.16}$$

We divide the proof into two cases.

Case 1.1. $3su \leq 2$. Then (2.13)–(2.16) lead to the conclusion that $g_{u,s}(x)$ is strictly increasing on $(0, 1)$. Therefore, $g_{u,s}(x) > g_{u,s}(0^+) = 0$ for all $x \in (0, 1)$ follows from (2.12) together with the monotonicity of $g_{u,s}(x)$ on $(0, 1)$.

Case 1.2. $3su > 2$. Then (2.13)–(2.15) lead to the conclusion that there exists $\delta_2 \in (0, 1)$ such that $g_{u,s}(x)$ is strictly decreasing on $(0, \delta_2)$. Therefore, $g_{u,s}(x) < g_{u,s}(0^+) = 0$ for all $x \in (0, \delta_2)$ follows from (2.12) and the monotonicity of $g_{u,s}(x)$ on $(0, \delta_2)$. \square

3. Proof of Theorems 1.1 and 1.2

Proof of Theorem 1.1. Since both $Q_{t,s}(a, b)$ and $AG(a, b)$ are symmetric and homogeneous of degree 1. Without loss of generality, we assume that $a > b$. Let $x = (a - b)/(a + b) \in (0, 1)$. Then from (2.5) and (2.6) together with $b/a = (1 - x)/(1 + x)$ we have

$$\begin{aligned} \frac{AG(a, b)}{A(a, b)} &= \frac{AG(1, b/a)}{A(1, b/a)} = \frac{\pi}{\mathcal{K} \sqrt{1 - (b/a)^2} (1 + b/a)} \\ &= \frac{\pi(1 + x)}{2\mathcal{K}(2\sqrt{x}/(1 + x))} = \frac{\pi}{2\mathcal{K}(x)}. \end{aligned} \tag{3.1}$$

It follows from (1.8) and (3.1) that

$$\begin{aligned} \log \left(\frac{Q_{t,s}(a, b)}{AG(a, b)} \right) &= \log \left(\frac{Q_{t,s}(a, b)}{A(a, b)} \right) - \log \left(\frac{AG(a, b)}{A(a, b)} \right) \\ &= \frac{s}{2} \log [1 - (1 - 2t)^2 x^2] - \log \left[\frac{\pi}{2\mathcal{K}(x)} \right]. \end{aligned} \tag{3.2}$$

Therefore, Theorem 1.1 follows from Lemma 2.1 and (3.2). \square

Proof of Theorem 1.2. Since both $Q_{t,s}(a, b)$ and $L(a, b)$ are symmetric and homogeneous of degree 1. Without loss of generality, we assume that $a > b$. Let $x = (a - b)/(a + b) \in (0, 1)$. Then (1.8) leads to

$$\begin{aligned} \log \left(\frac{Q_{t,s}(a, b)}{L(a, b)} \right) &= \log \left(\frac{Q_{t,s}(a, b)}{A(a, b)} \right) - \log \left(\frac{L(a, b)}{A(a, b)} \right) \\ &= \frac{s}{2} \log [1 - (1 - 2t)^2 x^2] + \log \left(\frac{\operatorname{arctanh}(x)}{x} \right). \end{aligned} \tag{3.3}$$

Therefore, Theorem 1.2 follows from Lemma 2.2 and (3.3). \square

Acknowledgements.

The authors wish to thank the anonymous referees for their careful reading of the manuscript and their fruitful comments and suggestions.

REFERENCES

- [1] G. D. ANDERSON, M. K. VAMANAMURTHY AND M. VUORINEN, *Conformal Invariants, Inequalities, and Quasiconformal Maps*, John Wiley & Sons, New York, 1997.
- [2] F. BOWMAN, *Introduction to Elliptic Functions with Application*, Dover Publications, New York, 1961.
- [3] P. BRACKEN, *An arithmetic-geometric mean inequality*, *Expo. Math.* **19** (2001), 273–279.
- [4] P. F. BYRD AND M. D. FRIEDMAN, *Handbook of Elliptic Integrals for Engineers and Scientists*, Springer-Verlag, New York, 1971.
- [5] B. C. CARLSON, *Algorithms involving arithmetic and geometric means*, *Amer. Math. Monthly* **78** (1971), 496–505.

- [6] B. C. CARLSON, *The logarithmic mean*, Amer. Math. Monthly **79** (1972), 615–618.
- [7] B. C. CARLSON AND M. VUORINEN, *Inequalities of the AGM and the logarithmic mean*, SIAM Review **33** (1991), 655–655.
- [8] Y.-M. CHU AND M.-K. WANG, *Optimal inequalities between harmonic, geometric, logarithmic, and arithmetic-geometric means*, J. Appl. Math. 2011, Article ID 618929, 9 pages.
- [9] Y.-M. CHU, M.-K. WANG AND Z.-K. WANG, *Best possible inequalities among harmonic, geometric, logarithmic and Seiffert means*, Math. Inequal. Appl. **15** (2012), 415–422.
- [10] W. FECHNER, *On some functional inequalities related to the logarithmic mean*, Acta Math. Hungar **128** (2010), 36–45.
- [11] H. KOSAKI, *Arithmetic-geometric mean and related inequalities for operators*, J. Funct. Anal. **156** (1998), 429–451.
- [12] T. P. LIN, *The power mean and the logarithmic mean*, Amer. Math. Monthly **81** (1974), 879–883.
- [13] L. G. LUCHT, *On the arithmetic-geometric mean inequality*, Amer. Math. Monthly **102** (1995), 739–740.
- [14] E. NEUMAN, *The weighted logarithmic mean*, J. Math. Anal. Appl. **188** (1994), 885–900.
- [15] E. NEUMAN AND J. SÁNDOR, *On the Schwab-Borchardt mean*, Math. Pannon. **14** (2003), 253–266.
- [16] J. SÁNDOR, *On the identric and logarithmic means*, Aequationes Math. **40** (1990), 261–270.
- [17] J. SÁNDOR, *On certain inequalities for means*, J. Math. Anal. Appl. **189** (1995), 602–606.
- [18] J. SÁNDOR, *On certain inequalities for means II*, J. Math. Anal. Appl. **199** (1996), 629–635.
- [19] M. K. VAMANAMURTHY AND M. VUORINEN, *Inequalities for means*, J. Math. Anal. Appl. **183** (1994), 155–166.

(Received August 1, 2012)

Yuming Chu
School of Mathematics and Computation Sciences
Hunan City University
Yiyang 413000
China
e-mail: chuyuming@hutc.zj.cn

Miaokun Wang
College of Mathematics and Econometrics
Hunan University
Changsha 410082
China
e-mail: wmk000@126.com

Yefang Qiu
Department of Mathematics
Zhejiang Sci-Tech University
Hangzhou 310018
China
e-mail: qiuyefang861013@126.com

Xiaoyan Ma
Department of Mathematics
Zhejiang Sci-Tech University
Hangzhou 310018
China
e-mail: maxiaoyan424@yahoo.com.cn